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— 12107 1OTAR NYENR 20 TN
X'' agrees where it is evidently corrupted from within

OVERVIEW

The X 3 maintains that the 7awn can follow the opinion of r¥HX °27 (even
according to 127). The reason why we require the mn°nn to be nnwh is
because if the 72°nn were 7w X5 it would be considered 12101 71, Even
though X"9 does not require 72’01 7Y, nevertheless he maintains that if there
are 7n°nn 7y, they must be valid o*7y. If the 77°nn >7v are not valid 2>7y, then
the 70w is deemed to be 12107n 7™n and it is 2109, Our NOOIN discusses the
reason that 12101 721 is 7109, and how it applies to nnwH XHW nn°nn.

Moo asks:
— PNYY 1939 NN
The 3" is perplexed by this statement that 7w X>w 72°nn is considered 1310 A
- P9IV IN 192197 12 DIINNY 19NN >NTNY NPYY RIY Py A
What connection is there between signing m»wh K@ to the 17 of f»™I»

121n% which applies in cases where relatives or invalid witnesses' signed
the document?! It is only in these cases (that XaX °27 states) that “1¥%X °27 maintains that
since it is 1211 7™, by these witnesses signing the q0w, therefore it is 7109 -
- 111959Y THDIY NN NNYST DIVN YOO 1A onht
For in those instances the 70w is justifiably invalidated because it may be
that we will come to depend on the signatures of these invalid witnesses -
- N9 DY 1919 NN IN ANIYNY
To allow her to remarry, or to extract money on the basis of their
testimony,” and -
= YD MTYA NON MIVYY PN 3NN 9297V 29 by 9N
Even though that the testimony is true; it should not be done, unless
proper witnesses attest to the facts (that she is divorced, or the money is owed). In
these cases however, where the 0>7v are 2°21p or 0°7109, we are allowing her to remarry
or to collect money based on the testimony of 2705 o>7v. Therefore a Jww which is
signed by 0°7109 0>7¥ is invalid, since we may rely on the f2°nn >7v who are 9109.

! These are people who are known to have committed acts which invalidate them from being acceptable
witnesses.
2 X" does not require 72°n1 >7v; only 77°0n *7v. However in general (if there were 77°01 *7v), we may also
rely on the 7n°nn >7v to authenticate that which the "W states; provided that they are o™ w> o7v.
3 There was 717°0n >7v when the 03 or the 70w was transferred to the proper party.
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moon will now prove that the testimony of 2°7¥ cannot be accepted, even if it is true,
unless it is presented in the approved manner.
= (3,89 97 132 PN NYIIN P93 9INT

As the X773 says in 11K JW39R 299 concerning’ a PR 0OV -
= DAND 919 XYY DN91M 9N NINNI 7NN XANIA ITNT 123207 D21Y 23) 79NN

‘Shall we place the P 7P "vw with the witnesses; at times they may see
the testimony in the written "0 and they will testify according to what is
written, but the ;790 states that we believe witnesses what they say from

their mouths, not from their written documents’.
We derive from that X723 that the proper procedure must be followed by m7¥ n7a7. Even
though they will testify correctly; we have given them the 7w TP T0w that they
themselves signed, and that we know is correct. Nevertheless since the 7710 requires that
the testimony of 2°7¥, not be based on a written document, but rather on their memory
(Dan> o XY omPon), we cannot accept this testimony even though it is true. The same
holds true if 2°217p or 2°7109 signed on a valid Jvw, for which there were 7707 79 who
witnessed the transaction. When it will become necessary to corroborate the action called
for in the 7w, we cannot depend on these 7n°nn *7v; we must have the original 7701 *7v.
These nn°nn >7y are 9109; we cannot enact anything based on the testimony of their
signatures, even though it is true. This explains why X"9 maintains that 121nn 7", in the
case of D709 0’7y, is a 70D ww. Inadvertently we may rely on the testimony of their
signatures when the 717°07 *7v will not be readily available.

= 7NYYH XDV mMNNY NON D9V DITYNY XON YaN

However in our case, where the 2°7» who signed nnw> X?w were proper

0°7v; they merely signed the awh X2 v) -
- DNYYY TNDI DX 792 U NYPN NN

What calamity can there be if we will depend on them, and allow the woman
to remarry based on their testimony. They are 2 w> o>7v. They are aware that the

4 See “Thinking it over’ # 1.
5 In a PWITR 0w there is no ja1; for it will serve no purpose to have the 17 in a PYITP 0w as the X there
explains. We cannot give the 117°p 70w to either the husband or wife, because they are suspect to alter the
11. We do not want to give this 1w17°p 0w to the 07y, for if they will be required to testify concerning the
date of the v 7P (they may be required to testify in the case of a suspected adultery, etc.), we are
concerned that they will not remember the date on their own; they will need to refer to the 7vw, and that
testimony is not valid; as N0 presently quotes the X3 there.
6 There is much discussion among the commentaries how is a 0w acceptable, it is D03 51 and not o7on.
7 There is a noted comment from 23°X R2’PY >3 concerning 7w X2w mann. He is puzzled what is meant by
A ROw mnn. Seemingly if it is signed Tnw? XYW, meaning that the 07y were somehow unaware of (the
details) what they were signing, then it is not only mnw? R7w, there is no testimony at all. Various
commentaries offer different possible solutions to this question. This question is not applicable according to
the 7"» who maintains that the requirement of 72w includes that one must verbalize specifically that he is
writing or signing the W v (see also n"n).
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husband is divorcing his wife. The fact that they signed m2w> X7 should not detract from
their signed testimony that she is divorced.

mooIN anticipates a possible solution, and refutes it.
= 193191 PPYINY N2 NHYY XYY 1NN 1359Y INT 92519 DY)

And we cannot say that the reason we consider w5 85w 72°nn to be 7™1n
1Dnn, for if we will permit a v) that was signed 72w X5@ it may result

occasionally, that we may permit -
= 995 MY XY 0N 550NN 23X HY VI AN AYINN NINNT

That the witnesses may sign initially; before the v3 is even written and
afterward they will write the v» above their signatures, and in that case

there is no testimony at all. The o>7v did not really sign a document they just wrote
their names on a blank parchment. It is obvious that we cannot rely on their signatures as
testimony. This seemingly should explain why X"9 will maintain that 7w X>w 72°0n is
considered 1211 7. We are not concerned about mnw? Xow itself, as mooIn previously
explained. However we are concerned that if 7w Xow m2°nn is permitted then eventually
the 07y will sign before the v is written. We surely cannot rely on the signatures in such
an event.

mooin refutes this explanation:
= PRV NNNN TPI8NT 1T NPN MHVY NV D) AT OYLVN )5 ONT

for were this true; that there is a valid concern, that if it is signed w5 85w
people will eventually allow them to sign before the document is written,
then for this same reason; by other documents, besides 1"v°3 we should

have also required 57%w% 729nM; to prevent a similar occurrence of the witnesses
signing before the document is even written.’ The fact that no other document is required
to be signed nnWw? is proof that there is no such concern.

ND0IN answers:

- 712505 YON 1NN 1Y XX 100191 YanT Y v
And one can say; that nevertheless we can make a decree concerning the
mmonn on account of the 773505 -

8 The reason this may come to pass is that since (there are 77°0n 7y anyway, and) we are allowing them to
sign 7nw? KXW, it will be interpreted that their signing is merely ‘symbolic’. As a consequence people will
eventually not mind even if the witnesses sign before the writing of the v3, since (there are 717°0% >7¥ and) it
is only ‘symbolic’.
? See ‘Thinking it over’ # 2.
19 Even though we cannot be 71 that if the m»>nn will be AW 85w, it may come that they will sign an
empty document, nevertheless there is a different 77°1; as Md0N continues.
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$IYY N2YNN 1) 1N KXY 19 13591 NNRYY NNONN PUIY PN ONT
For if the m»nn will not be performed 7»w> we are concerned that

perhaps the writing of the v will not be written ;72w either!!. A v that is
written 7RwY KW is RNPNRTA 2109 according to X", Therefore a vx that is signed Xow
mmw® is considered 19 711 and is 109,12

SUMMARY

The 2105 of 12101 71 in general refers to a W that 2°217p or 2°7109 signed.
According to X"7 there is no need for n°nn >7v. Nevertheless if 2°217p or
07100 do sign, the W is 709 since it is 12302 711, The reason for this 7109
is because we are concerned that eventually we may rely on the 720 7 to
validate the 7vw. The 70w cannot be validated on the basis of these 72 nn 7y
since they are 0°91091 0°21p. It is irrelevant that their testimony is true; the
770 requires us to accept the testimony of 2 w> >7v only.

We find a similar 7, concerning the requirement that the testimony of the
0’7y should be o1 and not 0an> *on. Even though we are certain that their
testimony is true, nevertheless we do not accept the m7v n7a7 if it is "9n
Q2n2.

The reason that 7awH X5W 72°00 >7v is considered 1017 721, cannot be the
same as for 0°21091 0°2177 mentioned above. Their 72°nn should be accepted
as a proper MTY N7, since they are oW O°7Y.

We cannot say that nnwh Xow 72°00 is 19101 71, because we are concerned
that if we permit 7nwH X5W n1°nn, we may come to permit the 17°ni even
before the 712°n3, which surely cannot be relied on as a m7v n7a. If that
concern is valid then all M VY in addition to v should require 72w%. This
is not the case.

The reason that 7nw? X5w 72°nn1 is considered 1217 7°17 and is 7109, is on
account of a different 77°1. We are concerned if the n°nn is 7awh XOW W,

' The commentaries ask: In the previous ¥nm 7"7 '010 we learnt that there is no concern that if the 72°n3 is
' ROw the mann will also be maw? X2w. Why does mpoin say here that if the nn°nn is mnwh KW, we are
concerned that the 71205 will also be 7w ®7w? Seemingly it would be more logical to be M3 the X NN
72°n> that precedes it, than to be 13 the An°nn WX 72°n2 which follows it. See X¥7n ,A™w 2" ,0"n
X1n2a et al. See ‘Appendix’ for a possible solution to this problem.

12 This 9109 of 121 A™1n by Anw® ®5w amonn is different than the 9109 of 12107 77 when the T0w is signed
by a 9109 W 217p. In the latter case we are concerned that we will rely on these 7n°ni >7v to ascertain what is
written in the Jvw. In the former we are concerned that it may cause that the 72°n3 will be 7aw? X7 as well.
See (however) ¥ R >'"2.
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people may mistakenly assume that the 72°n> is also mnwh XPw "wo.
Therefore nwH X2w 7m°nn is considered 121072 7™1n and the va is 7109.

THINKING IT OVER

1. Why is it necessary for N800 to bring a proof from the X773 in 1AX "7 I
(concerning the PwITP W) that we require proper m7v?!3 It is obvious that
0°71091 0°217p cannot testify!

2. Mmoo states'® that if the wwn of anwh Xow a»°nn is that they will
ultimately sign before the v3 is written; then the same 77°12 should apply to
all vw. Seemingly there is a difference between v°a and all other nnvw.
By v there is a 21 of 7aw? (72°n3), therefore if we see the 07V signing
W ®Hw we will assume that their signing is meaningless, and they can sign
even before the vi is written. In the case of all other n1Mvw however, there is
no 211 of either 712°n> or 7»w> nn’nn. Why would we suspect that people
would mistakenly assume that if the nn°ni is anw 85w w2, they should be
permitted to sign before the 0w is written!?

APPENDIX

To resolve the apparent contradiction between the two moon,' a distinction
needs to be made first between two types of n17ma.16

There is the practical 77712 (A). It states we cannot do (a) for if we allow (a)
then inadvertently it may come to pass to do (b) as well; and (b) is
forbidden. An example of this 7773, is what we learnt in the previous N1901n
that one is not permitted to write a 7121722 Vi (according to »n"7), for if we
write a 721»2 03 (a), we may inadvertently forget!” and sign it also 22172
(b). If a va is signed 7212 (according to ") it is 2109.

Then there is the conceptual (and more universal) 77°12 (B). It states we
cannot do (a), for if we allow (a) then people will mistakenly think that (b) is

13 See footnote # 4.
14 See footnote # 9.
15 See footnote # 11.
16 See ‘Thinking it over # 4 in the previous ¥anm 7" Mmoo,
17 We will not (necessarily) think that 921922 72°n11 is permitted. Rather on account of the circumstances in
this instance (that it is written 121712), we may forget and sign it 121112 as well.
5
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permitted as well;'® and (b) is actually forbidden. An example of this type of
771 is presented in this mpon. The o°7y are not permitted to sign nnwH XHW;
for if they will sign nnwH X2 (a), we may mistakenly think that you are
permitted to write the nnwH X>w va (b). A vx written 7nwH XY (according to
R'"9) is 709,

In the previous mooIn it was explained that 77°13 (A) is applicable only by
7217 and not by nnwh X?w. We can assume that 2>y will not inadvertently
sign nnwh XYW because it was written 1nwH ROW. There is no connection
between the two; as opposed to 72112 7°nM 72°02, which are very much
connected. We were not discussing a type (B) 771 that people will think
that since 72°n2 is 7212 MR so too 7207 1s 722 MR and similarly by
Y Row. It is the opinion of MooIn that there is no such wwn. The reason
being; that both 72°n> and 7 0 are required in a Vi according to n"7. The
rules are clearly set. 72°n2 and 72’00 are clearly differentiated. 72°n3 is W>
nwh XOWY 12ma2. However noni is anwh ROWY 121m2 2109, Everyone knows
this and sees this many times. There is no type (B) 77°1."°

According to X" however, 12°n> is required (72w2); however nn°nn is not
required at all. There is no 1°7 that nnw Xow an°nn is w2, It is merely that
nnenn is not required. When people will see that the 0*7v signed (72w% R5W),
they will mistakenly assume that the signing of the 2°7v is a part of the
process of writing the vi. They will subsequently assume further that if the
D>7TY can sign nnwh XYW, the entire 03 can be written 7aWH X9w.2° Therefore
here there is a type (B) n713; that if we allow nnw X5w nnonn (a), people
may mistakenly think that 72w X5w 12°n> (b) is also permitted. Thus the
contradiction is resolved. In the previous m»oIn we were discussing a type
(A) 771, and in this MdoIN we are discussing a type (B) 771, which is
applicable only according to X"9, and not according to n".

18 Tt is not that they will merely forget (this one time) and inadvertently do (b) wrong. Rather they will
mistakenly misinterpret the 17, that (b) is 20
19 There is only a type (A) 7713 by 7210, because of inadvertent forgetfulness; not a mistake in 7°7.
20 See M7 7.
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